Прямол. равномерное дв.

x=x0+vxt   -перем. 

vx=(x-x0)/t   -проекция ск. 
v=SQR(v12+v22)   -перем. по диагонали

vcp=S(/t   -ср. ск.

vмг=lim*((S(/(t) t(0   -мг. ск.

Равноуск. дв.

a(=(v(-v0()/t   -уск. дела 

vx=v0x+axt   -скорость тела

Sx=v0xt+(axt2)/2   -перемещение

x=x0+ v0xt+(axt2)/2   -координата тела

Sx=(vx2-v0x2)/2ax   -перемещение без времени

a=v2/r   -мг. уск
Дв. по окр.

T=(2(r)/v   -период обращения

a=4(2n2r   -центростр. уск.

Св. падение

v=v0y+gt   -скорость тела

y=y0+v0y+(gyt2)/2   -координаты тела(высота)

h=(vy2-v0y2)/2gy   -коорд. тела без времени

